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Note:
1) Figures o the rights indicate marks
2) Draw neat and labeled diagram wherever necessary

Total Marks: 70 |

Q.1 Maltiple Choice Questions

1 Which of the following is the main stimulus for thirst mechanism ?
a.  Dehydration ¢.  Water intoxication
b. Over hydration d. None of these

2) Stimulating the kidney for the retention of water is the function of hormone,
a. ADH ¢. Kinine
b. aldosterone d. All of these

3) Minimum excretory volume is about ml/24 hrs.
a.  100-200 e 500-600
b.  200-400 - d. 600-1500

4) Which of the following is hexose sugar 7
a. Ribose ¢. Deoxyribose
b.  Erythrose d. mannose

5 DNA requires following carbohydrates as its component.
a.  Ribose ¢ Arithrose
b.  Ribulose d. Glucose

6) All of the following are reducing sugar except :
a.  glyceraldehydes ¢. Cane sugar
b.  Milk sugar d. Blood sugar

7) Imidazole ring containing amino acid is
a.  Tyrosine ¢. Tryptophan
b.  Arginine d. Histidine

8) All of the following amino acids are optically active, except
a, Lysine ¢. Glycine
b. Leucine d. Valine

9) Rapidly sedimenting substances are collected using
a.  Desktop centrifuge ¢.  Partition co-efficient
b.  Ultra centrifuge d.  Circular paper chromatography

10) Visualizing reagent used in paper chromatography is .
a.  Chromo protein ¢.  Ninhydrin
b. HCL d. Allof'these

@

(P70

(10]




Q.5a)

Q.6
Q.6

Answer the following questions (Attempt any TEN)

Define dehydration and write its type.

Give reason : Structure of water is V-shaped.

Write down the role of ADH and aldosterone,

Draw the cyclic and acyclic structure of glucose.

What do you mean by chiral carbon ? Write its example,

Milk sugar is reducing in nature. Explain,

What are essential amino acids ? Give examples.

Draw the structure of Glycine.

On what basis amino acids are classified as ketogenic or glucogenic ?
Write the factors that affect sedimentation rate of given biological molecule.

Give formula to caleulate partition co-efficient and effective d istributive co-efficient.

What is the use of gypsum in TLC ?

Write shoit hote on :Structure of water
Explain in detail :Normal water balance.

OR
Explain briefly : Distribution of electrolytes in the body
Write shott note on : Pure water dehydration,

Write short on :Milk sugar
Lxplain : Function of carbohydrates.
OR

Briefly write about Asymmetric carbon.
Write short note on : Starch.

Write in detail about titration curve of Glycine,

Classification of amino acid based on polarity

OR
Write short note on Non-protein amino acids.
Define protein and write its functions

Explain principle, method and application of circular paper chromatography.
OR
Explain principle .method and application of TLC.
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